[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

Ratio
=
|_l_l_¥_l_l_ll IIIILIIII!IIII!I'IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

0.95
1072

10 1 10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

- 02
@016 :
5018w
q) - .
©O0.16F - fiee--
st

20.14F -
3
$0.12
3

£ 0.4
0.08
0.06
0.04
0.02

TT TTT[TTT[TTT[TT1[TTT
+] AR I I I
&
o

................................

................................

................................

................................

V)

Ratio

F 4+ 4+ £+ 4

——
T

0.950 :
1072 107

1 10 0?
track ref. point r (cn%)

—s=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO

Efficiend —— pom_v0001_R000000001__ Global__mkFitOLD-checkDet12_RECO

N 0.1p -
L 0 ERCI SISO 31 N EES RS
0 o :
>0.08------ P Y P TRCRCERIT TO8 B PERrREPEPE
> F . :
2 E : :
T R O (10 LR St
o r . "
05| RV S NN SRS SO | 8. O S
@ E : :
1Y’ USRS 11| ORI RS 109 S
e | SRR 0 H SIS 1 6 O SR
0.03F -+ roft - Fe o e
0.02F -+t f
0.01F -+ s
e RPN T 0 2 NP S
g : :
14 [ : i
e R R R IR T A
0%/ —=26" -10 0 10 20

30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> o
Q. 0.18f
c o
7 0.16
£0.14F
& o
€ 0.12F

0.1
0.08F

0.06F

efticie

0.04F
0.02F
N R I i i
o ~#f :
@ r :
4 r :
I B
%G5 0 5 10 15 20

Sim. PV z (cm)

N 0.
£0.09
@
£0.08
o
20.07
>S5
3
¥0.06
X
$0.05
0.04
0.03
0.02
0.01

Y T B
g : :
o [ . .
e

-20 -10

0.95

0 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Si

m.PVz]

N 0.
>
2.0.09
£
70.08
20.07
o
T 0.06
@
£0.05
Q
50.04
=}
$0.03
g
©0.02

0.0

1.0

Ratio

0.95, L

©10-8 6

-4 2 0 2 4 6 810

Sim. PV z (cm)



	Contents
	Page 1


